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The Wordle Game

1.Guess a five letter word.

2.You have six tries. 

3.A correct letter in the correct position will be 
shown in GREEN.

4.A correct letter will be shown in GOLD.
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June Forth Challenge

1.Develop a large list of five letter words: 20 
to thousands. [Wordle = 12,875 words]

2. Form evaluation criteria for closeness 
between words.

3.For each word, rank its closeness with the 
remaining words.



The Words



The Ranking Criteria

Over N five letter words, select a test word.

For each letter in the test word, compare each of its 
letters to the N-1 remaining words.

Score 3 for a letter at the same position in both.

Score 1 for a match elsewhere.

S T A R E

T O A S T 

1 O 3 1 0    T can only be scored once.  



Build The Word File

\ Name the disc file
here to My-File-Name ," c:\data\forth\For 
Talks\Wordle-III\Wordle-Daily-List.txt“

\ Open the disc file; get its FID.
My-File-Name count r/o open-file 
-280 ?throw  to My-File-ID

\ Find the file size
my-file-id  file-size -281 ?throw  to My-File-Size

\ Copy the disc words to Forth array
My-File-Contents My-File-Size My-File-ID read-file
-281 ?throw  drop



Count The Words, Create Matrix

: CountWords (  --- count )
0 My-File-Contents  My-File-Size over + swap
do  i c@  ascii ,  = if 1+ then loop 1+  ;

\ Create 2,309 x 2 matrix for words
CountWords 2 * 2 create{ Word-Set{



Copy The Words To The Matrix

\ Scan comma delimited words, formatting matrix

: }Form-Matrix      ( Word-Set{ )
0 to Matrix-Row  0 to index-Offset
My-File-Contents  My-File-Size  over + swap
do  i c@  dup ?ascii

if dup  32 - 2pick  Matrix-Row 0 }}   
index-Offset +  c! 
1 +to index-Offset
then 

ascii ,  = 
if 0  to index-Offset

1 +to Matrix-Row   then 
loop  drop ;



Print The Word Matrix
: }Print-Matrix ( n words) 
0 do  

dup i 0 }}  print-word 3 spaces
dup i 1 }}@ f. cr

loop  drop  ;

Word column 0

Closeness column 1



Starting Random Matrix
Word-Set{    }Form-Matrix

Word-Set{ 10 }Print-Matrix

CIGAR   .0000
REBUT   .0000
SISSY   .0000
HUMPH   .0000
AWAKE   .0000
BLUSH   .0000
FOCAL   .0000
EVADE   .0000
NAVAL   .0000
SERVE   .0000 



Score One Word

: }Score (  --- score )   refresh-words

0   5 0  \ for 3 points

do  guess i + c@   unknown i + c@  =  
if 3 + 1 guess i + c! 2 unknown i + c! then

loop
guess 5 over + swap

do  unknown 5 over + swap \ for 1 point

do  j c@   i c@  = if 1+  3 i c!  then 

loop
loop  ;



Score All Words
: }All-Scores 

my-word-count 0 do 0 Word-Set{ i 1 }} ! loop
my-word-count      \ words tested
0 do my-word-count \ against all words

0 do j i <>
if  Word-Set{  j 0 }} new-guess   5 cmove

Word-Set{  i 0 }} new-unknown 5 cmove
}Score  negate 

Word-Set{  i 1 }} +!
then

loop
loop

my-word-count 0 do Word-Set{ i 1 }} dup @ s>f F!
loop ;



Highest Ranked Words

STARE   -5388.
AROSE   -5316.
RAISE   -5315.
ARISE   -5313.
SLATE   -5310.
ERASE   -5310.
SANER   -5285.
SNARE   -5279.
IRATE   -5265.
EATER   -5256.
CRATE   -5229.
STALE   -5210. 



Lowest Ranked Words

FUZZY   1832.  
FLUFF   1932.  
FIZZY   2038.  
PYGMY   2050.  
JUMBO   2057.  
JIFFY   2102.  
VIVID   2103.  
JAZZY   2107.  
MUMMY   2119.  
WHIFF   2140.  
HUMPH   2156.  
DIZZY   2178.



Performance

2,309 words

5.3 million word comparisons

133 million letter comparisons

Takes  24 seconds

2,309 item bubble sort
2.7 million floating point comparisons

Takes 6 seconds.   [0.45 megaflops]



July Forth Challenge

1. Develop an alphabetic grid such that .  .  .

2. When an unknown word is tested against a series of 
known words . . .

3. The grid notes the letters known by their location 
(Green) and the letters used but in an unknown 
location (Gold).

4. The purpose is to sequentially improve the grid as a 
model of the unknown word.

5. In Wordle you are allowed only six tries. 


